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Question 1: [10 marks] 
Data warehouse makes the enterprise’s current and historical information easily available for decision making. Suppose you have to analyze the data warehouse of a telecommunication company like telenor or u-fone or any other company. How the current and historical information can benefit the managers in decision making? 

Answer:
It can be possible by the data warehousing. The data warehouse has the historical data and by using past information, it is the best predictor of the future. We can use historical data, because it gives us an insight into how the environment is changing and demanding.
The company should collect the data of customer requirements by using data warehousing. The customer requirements can be fulfilled efficiently by using data warehousing. When a company gets the demands of a customer then the company should keep this data in the data warehouse for future use. It can analyze the current requirements of the customers. This can be achieved by the implementation of data warehousing to analyze the most customers demands. The decision makers get required data from data warehouse and make efficient decisions for the improvement of their company. Data warehousing is better analysis, it use data query and reporting, planning and analysis and converts cooperate data into strategic information. DWH is an intelligent decision support.
Question 2: [10 marks] 
You are a Senior Analyst in the IT department of a company manufacturing auto-mobile parts. The marketing VP is complaining about the poor response by IT in providing strategic information. Draft a proposal to him explaining the reasons for the problems and why a data warehouse would be the only viable solution? 

Answer:

The company was not using data warehousing. DWH keep the strategic information. If the company has its data warehousing then definitely this problem can be controlled by using DWH. The reasons behind is that:
The DWH is a complete repository, all the data is present from all the branches/outlets of the business. The users of data warehouse are knowledge workers in other words they are decision makers in the organization. DWH helps to take an efficient solution.
Subject oriented:
The goal of data in the data warehouse is to improve decision making,

planning, and control of the major subjects of enterprises such as customer, products, regions, in contrast to OLTP applications that are organized around the work-flows of the company.
Integrated: 
The data in the data warehouse is loaded from different sources that store the data in different formats and focus on different aspects of the subject. The data has to be checked, cleansed and transformed into a unified format to allow easy and fast access.

Time variant: 
Time variant records are records that are created as of some moment in time. Every record in the data warehouse has some form of time variance associated with it. In an OLTP system, the contents change with time i.e. updated such as bank account balance or mobile phone balance, but in a warehouse as the data is loaded; the moment usually becomes its time stamp.
So if the company should use the data warehouse then definitely it will improve better in future.
